EARAROBEEIERT — 2 N— IBISH —F

2018528240 (£) 1EBVM\E5H

m"fﬁ%Sﬁ KEEF 4t [IBF] B ‘ [Xfg] B ‘ [EME] — | % (&) 17000 B
[x&<£] 1 % :5,000,000 @ ~ 23 :2,000,000 ™ . 3% :1,300,000 W ~ 43 :750,000 . 5 7 :500,000 M
B\ ®RBE mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o o WERS :48. ~4-4~ . . #ZILERE (ER)
i1l gy L] ok 1(4_8)8 4-4-4-2 | 39.3| 85.7 | 3 <4+722) ?&EEEEIHIJ
LN=V754 B:Hr/F3IT7 FRE%S
® p@ BERE 148. -1-1- . . AT (EXR)
2 o| T K7 —JL KJX1 4 3 i 7 1(14/82;) 1-1-1-1 | 39.7 | 85.0 | 1 ag;) A(ﬁ) e
Z:7A7% B RKETZHEILKINY HET77—L
[N Rtk — : -14-12- HHBEL (EX)
3 6| %¥7/0-9% it 3 Jent 1.?‘%.6 14-14-12-11{39.2 | 79.0 | 6 (410) ’%’ﬁtliarﬁ
L:O—-X¥x>J4L B:R2A0FT 40 J=ZH-F
=HB : -3-2- BIRE (EX)
4ls5lg|7V/7Zay b 4 3 e (11419/28) 3-3-2-4 |40.5| 78.0 | 2 (4_1;5) ;’Zqéa;
R:bIA4=2T B:YILRILIK EEFL BRI
. BEE 149. —6-4- . . 55111848 (FER)
5 10 YIZAAZLTY —F 4 3 =55 (/4\19’_33 6-6-4-5 | 40.3| 77.9 4 (4_512) EIIIEﬂ
LI NATA—H— BIIZRENy T YIXELTF—L
. = 4 3 | EfE 1:50.1 9-9-7-7 |40.3| 75.4 | 9 464 | EHREE (FR)
618114 hyFrIhEX 54.0 (1 3/4) +1) ACfIHERS
L:Z2—RILRII B:ZLXT 1AL BT 7 — L4
o ~ FLE—BB : ~15-13- FEERT (EH
7lglisl K=—53 /0 it 3 o 1(.35/%2 15-15-13-13| 39.6 | 74.2 | 7 (4_326) S
R:T—UT74—Z BTy —U1-—> TVT5TT— L
. TN EE :50. -2-2- . . EEEA (EX)
8 NEESE VL i 3 Sl (175;72) 2-2-2-2 | 40.9| 75.0 | 8 (ﬁg) mm;ﬁ&
LixA a9 Ly B4 3959+ FREKS
S5 4 3 | A*IOAM 1:50.3 7-7-9-7 | 40.4| 73.9 | M 416 | BIEEE (RR)
9l7l12| 77 252.0 (7¥) 0 *%%7‘:&&
LANZ—k21—X B:HXATyY mE BE
R N HILRsE :50. —4-4- . . SAEE (ER
100Y 4 | >RV ES B 3 | R 1(15/02>4 4-4-4-5 |40.9 | 73.4 | 12 (i?f)) sl b
R:F—TTUFLT BFELAT LR S
— .= . BN : -10-10- BHwE (EH
1 1T T 4 3 ok 1.(%0).9 10-10-10-11| 40.8 | 69.4 | 10 zz(snz %5@%%
L:2y)—-re—A— B:1-70=7 TrZ—kINT7—L
RN o MBS :51. -13-15- . . AR (FER)
1 2| gy z— b i 3 ;;53_0 (11 511/21) 13-13-15-15| 40.1 | 67.0 | 14 <4+728) el
R:T7TRAFTEIN B TOF7RIT—X FRE%E
SN 4 3 | BEEK 1:51.2 11-10-10-10| 41.1 | 67.3 | 15 | 406 |‘EXEE (E#)
1317113 Evioava ¥¢53.0 (7€) o) (E; Evy
LNZ—ka2—X B:JOUTIXTTT— ES o
. o BEE%EtF :51. —-7-7- . . HARE (EXR)
14l5] 9 KUy K 4 3 Raes 1(7511:)2 7-7-7-9 | 41.4| 67.6 | 5 (4_5;4) EEE;E%
L—5—29 7 BEXTK—-J J—HrTp—L
N . ZARME : -12-13- ZAHIR— (ER)
15 5| Ay v LI i) 1.(582>.6 11-12-13-14| 42.0 | 57.7 | 13 ;1_5;6) el
x40 B:OvrXA—3 Hhzxzy K
@ 21 L
£ 52.4-39.6
NA>Z2A4 L | 7.0-11.1-12.1-13.3-12.9-12.8-12.9-13.2-13.5
@ 1 —F—@EBIEf
13—7F— |2,3,8(1,4)10-(12,9)14,11(5,13)-7,6-15
Pal=5F= 2,3,8(1,4)10(12,9)14-(11,13)5-7-6,15
== 2(3,8) (1,4,10) (14,9)12(11,13)6(5,15)-7
43—+ — 2(1,3)8(4,10)-(12,14)9,13(11,6)15,5,7
[ RN
B 1 700M 714K 1-2 280M e E 1-2 5401 JEE 1-2-6 4,510
# B 1 190M4 1-6 2,620 B = 52 520 JEH 1-2-6 24,0304
2 110 2-6 860M B H 1-2 1,470M
6 560

ABICOVWTRDTEEERROODE. TR LIV,



